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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

TUS ‘A’  SECTION ‘A’
Fraforfaa wsl # & Wl 1 I AT 150 = H G
Answer the following in about 150 words each :

e R for forg sror Fafeai s @Y & IR @die odt § | 98 S99 SR & e
3 forg vk i @ 7

Explain why the companies buy back their own shares. How is it different from

issue of bonus shares ? 10
o H AT o A wEEs H@i ol ® o ‘wwm fafor G
“HT9=’ | T A9 Geud © ? A 3 o qHETEAl H T wER ' 4 ?

“Recognition of revenue presents two basic problems, namely timing and
measurement”. Do you agree ? How would you solve these two basic problems ?
10
A e @ & S Al Vet wew gata @ aifte g TR wer fraffa ®G& S
frod af & 39 @ @ @ @ 2
What do you understand by the term Annual Value of house property ? How would
you determine the annual value of let out house property which remained vacant
for part of previous year ? 10
%aamtvﬁ%mwaaﬁr&rqﬁﬁ ‘& dl dr gel ara o TR ger fim
I
Explain with suitable examples how ‘Shut-down Cost’ is different from ‘Sunk Cost’.
10
W i v fage A e fife, fmow g = i dereden wa e
ﬁ@mﬂw & & | @ =iy |

Explain five major points that an auditor shall keep in mind while conducting audit
of a Charitable Trust. 10

fafiree ik g fofiee &1 wwmem 1 ad, 2019 =1 3R I ari@ & gt femn
wﬁlﬁmﬁg{’%mﬂaﬂaﬁﬁﬁmﬁ%ﬁq‘ﬁm@a%ﬁ%@’%w%@%
Fot ST S | 31 A, 2019 f AT & e, @ fafiee ik g foafies %
gemaa A= feu o € -

(% &g #)
foraor aq fafiee 9= fafiee
(A) T :
(i) A i

FE (100 vdw) 2,000 1,600
15% rftmrt 9o (Wads T100 &) 800 600
(i) qeaida srRfira 200 160
(iii) T ARfEA 400 300
(iv) sifaew @rar 160 120
(v) 12% RO-9 (WS T100 ) 192 160
(vi) =T ST __408 19
4,160 3,130
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(i) Tl afEataar 2,400 2,000
(i) = wikEafaar, ®o qur afim 1,760 1,130
4,160 3,130

HfReh gy

(1) == fafies ok 3@ fafiee & sttt SaenfEl & 45 et & <100 wfa &
15% SREM R SKeR-sReR §edr o wie fou § |

(2) 7 @t 7 v fafiee sk g7 fafire & 12% fed=dd & 7 st & qafw
T " 16% -7, 100 wid 9 o< fgermn @ aifs sae Sat &
= H wH e @

(3) =& g fofiee 7 w1 fafies & v faadt A & fog 1.5 Rt o qun
fifies & vaw fFd I & foau w SfFd o S/ forn | s B
H TS I T100 3ifehe e H T |

svel ‘fea & waewr it fafy @ vEw o wAmen fer S & avEE 01 sl
2019 &I =% B forffies &1 o991 AR T R

Sun Ltd and Moon Ltd were amalgamated on and from April 01, 2019. A new
company called Black-Hole Ltd was formed to take over the business of the above
two companies. The balance sheets of Sun Ltd and Moon Ltd as on March 31, 2019
are given below : :

(¥ in lakhs)
Particulars Sun Ltd Moon Ltd
(A) Liabilities :
(1) Share Capital :
Equity shares of ¥100 each 2,000 1,600
15% preference shares of 100 each 00 600
(11) Revaluation Reserve 200 160
(iii) General Reserve 400 300
(iv) Surplus Account 160 120
(v) 12% Debentures of 100 each 192 160
(vi) Current Liabilities 408 190
4,160 3,130
(B) Assets :
(1) Fixed Assets 2,400 2,000
(i1) Current Assets, Loans and Advances 1,760 ﬂ
4,160 3,130
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Additional Information :

(1) Preference shareholders of Sun Ltd and Moon Ltd have received the same
number of 15% preference shares of 100 each in the new company.

(2) 12% Debentures of Sun Ltd and Moon Ltd are discharged by the new company
by issuing adequate number of 16% Debentures of ¥ 100 each to ensure that
they continue to receive the same amount of interest.

(3) Black-Hole Ltd has issued 1-5 Equity shares for each Equity share of Sun Ltd
and 1 Equity share for each Equity share of Moon Ltd. The face value of shares
issued by Black-Hole Ltd is ¥100 each.

You are required to prepare the balance sheet of Black-Hole Ltd as on April 01, 2019
after the amalgamation has been carried out using the “Pooling of Interest Method™.

20
2.(b) @ fafmin dufai s weem =R el €, fem e @ fola axdt @
fraor wFEAT TR AT ATS
Gunilicepin| 90% - 60%
fasht (= =@ #) 540 300
gfad] @rE (T @@ #H) 396 225
frra @ (3 s/@ #A) 80 50

7% wd 7Q % weam wwif=a e s R, aRkeas Sifom

() faafm qa=t & dgem-w) ol 3k S8 R | gwa w1 S |

(i) 80% &SHaT ST W foefya @@= & Arweriar |

(i) ¥ 75 @@ & gATE sAfla aA & forg fwfa @@ i ol |

(iv) s foafiq a9 T 75 /@ & FATh A Affa oA H g | y=ifed |, 99
Fraa gaftera & 5% @t 9fy & aag T & oo fosh Fma 7 foaet wfteraan

gfg & sravaedar gl 7
Two manufacturing companies which have the following operating details, decide to
merge :

Particulars Company X Company Y
Capacity Utilization 90% 60%
Sales (¥ in lakh) 540 300
Variable Cost (¥ in lakh) 396 225
Fixed Cost (¥ in lakh) 80 50

Assuming that the proposal is implemented, calculate :

(i) Break-even sales of the merged plants and capacity utilization at that stage.
(ii) Profit of the merged plant at 80% capacity utilization.
(iii) Sales of the merged plant to earn a profit of ¥ 75 lakh.

(iv) When the merged plant is working at a capacity to earn a profit of ¥ 75 lakh,
what percentage increase in selling price is required to sustain an increase of
5% in fixed overhead. 15
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2.(c) =i difou & smmex vEeEt & fou faifcdt 6t s feafa fem year fraffa

H S R
Discuss how the residential status of an assessee 1s determined for income tax
purposes ? 15

3(a) e e § el el € sk Sad wivat Feafafea €
(i) 9 — 30,000 ¥ wiqATE
(if) FETE WA (S I da1 gaht @l § wnfe dar ®) - a9 60%
(iii) sftmfra = aFT # siveE - 3,000 ¥ widwTe
(iv) UM AT R @6 SR — 3,000 ¥ fowTe
(v) S7% foama & wafeg a6 oM SM & 9iEed wer - 2,800 ¥ wioAte
(vi) wfafeghs wn (D w9 & fw) - 3,000 3 wimme

(vii) FehR HET — 2,000 ¥ Wi
(ad R & s snfee % sifafi w 12,000 ¥ == fo)

(vii) 3% Fryes fam & gl & w2 | oo Fam & a=am ww 2,000 7
m%ﬁﬁ%lmﬁﬁ@m?ﬁmwmﬁﬁ
gwam vg femr @ e smfafea e 75,000 % % 1

(ix) 37 01.10.2018 & TS Al IR diher A glag § w2 o v@ds @
I 3,000 T WiHTE WHER R AW o S @ R |

(x)a%so,MO?;gqmqmﬁqmmméa‘tﬁmﬁwﬁﬁtmw%
TR

(xi) 01.10.2018 F 2 9 Frlicht & Q o/@ ¥ &1 FO WEFR @ied & g
6-25% i Famdt == @ R fomr | @@ F:o & 9w @ 2 10,000 wfonTs
01.01.2019 & WK & | 01.04.2018 ! WKW R e H = R 9-25% 4t |

(xii) TR ¥ firex waa & s=d fafafaa € -
(a) Sitaw ST Wi
@4 & fou 10,500 T (sfmr afyr g1 =@ ?)
it & ferw 12,000 ¥ (S iy v @@ )
ut & foro 8,000 * (v Tyt s @@ 2)
q9Eh P & g 8,000 T (S 976 IR O el €
T 98 IEraar @ difed ®), (dmn afn v eeR ¥)

qoft e wifafa 2014-15 & o af F +fF W A |
(b) ufserss widise e # w1 TRy — 5,000 3
(c) T@T A S FoW H UG W € I A BE — 6,000 I
(d) Sfrae =t e & wem o forg & o AR (99 9 - 36,000 %
gfteed Siforg
(i) 9a9 ™
(ii) HRT 80 C & Ted @l & fou e e |
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Mr. X is a Government employee at Ludhiana and is getting following emoluments :
(i) Salary — ¥ 30,000 per month
(ii) Dearness Allowance (enters) — 60% of salary
(iii) Contribution in Notified Pension Scheme — ¥ 3,000 per month
(iv) Employer’s contribution to Pension Scheme — ¥ 3,000 per month
(v) Transport Allowance for commuting between home and office — ¥ 2,800 p.m.
(vi) Deputation Allowance (for 2 months) — ¥ 3,000 per month

(vii) Entertainment Allowance — ¥ 2,000 per month
(During the year, he spent ¥ 12,000 on entertainment of official guests)

(viii) He has been provided with a rent-free accommodation. The licence fee for the
accommodation has been fixed at ¥ 2,000 per month. The government has
also provided him with furniture items costing ¥ 1,00,000 (WDV — ¥ 75,000)
for his personal use.
(ix) He has been provided with the facility of a servant and watchman w.e.f.
01.10.2018 and the government is paying ¥ 3,000 per month to each of these
servants.

(x) A laptop costing ¥ 50,000 has been given to him for his official as well as
personal purposes.

(xi) On 01.10.2018 he took a loan of ¥ 2,00,000 from his employer to buy a car
at a concessional rate of interest of 6-25%. The repayment of loan started w.e.f.
01.01.2019 @ ¥ 10,000 per month. SBI rate of interest as on 01.04.2018 was
9-25%.

(xii) During the year savings made by Mr. X were :
(a) LIC Premium :
For Self ¥ 10,500 (sum assured ¥ 2,00,000)
For Spouse ¥ 12,000 (sum assured ¥ 1,00,000)
For Mother ¥ 8,000 (sum assured ¥ 1,00,000)
For Major Son ¥ 8,000 (not dependent on him but is suffering from
disability) (sum assured ¥ 50,000)

All life insurance policies were taken in the previous year 2014-15.
(b) PPF Deposits : ¥ 5000
(c) Tuition Fees of Second Son studying in a College ¥ 6,000
(d) Repayment of Housing Loan from LIC'(Principal Portion) — ¥ 36,000
Calculate :
(i) Salary Income
(i1) Qualifying amount for deduction U/S 80 C. 20
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3.(b)

3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

SWE H A T WA © 7 TH WHERMT S9ie WITE! < A1avash aed 1 B § 7
ZHhT qRE T € ?

What do you understand by budgeting ? What are the essentials of effective
budgeting system ? What are its limitations ? 15

T e e frafkor (wEtEr) wore @ e ® 7 98 WEREE anE
fraior wonelt & form W B @ 2 form smenfta e Frafoor womeft <6 s wa
& = B WE I |

What is Activity Based Costing (ABC) system ? How is it different from Traditional
Costing System ? Explain the Steps to implement ABC system. 15

T BE W WH AR AEwEar H WE FY | T gE o ki

(B @z dwg) 3R seifafea qaffy (Rea sea @=g #e) & &= favc
| I g @i & AS-6 & sgar il foawi 3 @9 & gam feg 9
?

Explain the nature and need for depreciation. Distinguish between straight line
method and diminishing balance method of depreciation. What disclosures are

required to be made in financial statements as per AS-6 on depreciation accounting ?
20

Wmﬁﬁ%@iaﬂw%?m%mwﬁwﬁaﬁﬁaﬁtmﬁm
. |

What is Responsibility Accounting ? Explain the prerequisites and the problems in
its implementation. 15

quHE T s=my duedear ¥ e e fim g § 2 T oRkfEfe & =i
TR ferdll &l & Swor & ey § Hewd! § ?

Explain how investigation is different from that of Auditing. Under what

circumstances the Central Government can order for investigation of a company ?
15

qgqus ‘B’ SECTION ‘B’
Frafoafaa weAl # A uSS &1 ST @THT 150 v=1 F Sifora

Answer the following in about 150 words each :

Yo sifteraHieRer fraw fofa @ Sfa sew W ST @, T ae Smenfat &
TG T SATRAHIRT & GHH Tehifwich el © || |HiEr shifora |

“Maximization of profits is regarded as the propei objective of investment decision,
but it is not as exclusive as maximizing shareholders’ wealth” — Comment. 10

" A AT ITT ATHIN WA Rl AT BT AT AT wifew |7 T 39 qeHa
? 7 T wEar W A ?

“A firm should follow a policy of very high dividend pay-out”. Do you agree ?
Why or why not ? 10
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5.(c)

5.(d)

5.(e)

6.(a)

Sftamsd-Shum fasawn # selea fig & smen fif

Explain ‘Indifference Point’ (IP) in EBIT-EPS analysis. 10
wafies IR 3R fedias @R & e fadier Afm )
Distinguish between Primary Market and Secondary Market. 10

‘gt Fiftr % wemm @ wRmfEt § FRw we vos Ry 3 ew e R )
Tq o w1 T i |

“Investing in securities through Mutual Fund is a better choice than direct

investment” — examine the statement. 10
e FE 1 WEmt arE o fefafad fere wem R @
Fod A & AN A wE - ¥ 70
UE 9H d AR Wi S - 38
FITI R ufd TS o 0 UEH
gl AFd Wid 3FE S - ¥ 160
oW wid s = ¥ 25
form oo wfa 98 - T 185
s STHaRT - |

(i)mrmaﬂaaﬂqmm%ﬁqeﬁﬁmm%l

(ii) ¥l sftaaA saT wEET whET # e @ |

(iii) TR A gad U A & fou wie A @ R |

(iv) sgfeferafall grT TF W F IR g ® |

(v) SHERI &I T HIE F IUR WiFd ¢ |
(vi)mf@%agw:rﬁ%mmﬁwa@m%l

(vii) SuRardl & WA § T H7E H o e € |
(viii) Teh-STE IATGH AhG =T Sl ® |

(ix) TEe 3R d& A% 2,50,000 T @A H AT H AR E |

TS SeaTed i 1.04,000 AT H frmfiedr & w) @ fm-dwe w3 & fag
s Sl B el 7Y U fEr dUR @R € | M 98 AW e € f6
Waﬁmwwm%m%ln@ﬁtmtﬁsﬁwwﬁh@%
% 3k 52 wwie 1 99 ¥ @G € | ¥R IR WERR UF e § @A ¢ |
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6.(b) -

A proforma cost sheet of a company provides the following particulars :

Raw Material Cost per Unit - ¥ 70
Direct Labour Cost per Unit - ¥ 35
Overhead Cost per Unit = X
Total Cost per Unit - ¥ 160
Profit per Unit = ¥ 25
Selling price per Unit - ¥ 185

Additional Information :

(1) Raw Materials are in stock on an average for 1 month.
(11) Materials are in process on an average for % month.
(111) Finished goods are in stock on an average for 1 month.
(iv) Credit allowed by Suppliers is 1 month.

(v) Credit allowed to Debtors is 2 months.

(vi) Lag in payment of wages is 11 weeks.
(vii) Lag in payment of Overhead expenses is 1 month.
(viii) +th of the output is sold against cash.

(1ix) Cash in hand and at bank is expected to be ¥ 2,50,000.
You are required to prepare a statement showing the working capital needed to
finance a level of activity of 1,04,000 Units of production. You may assume that
production is carried on evenly throughout the year, wages and overheads accrue
similarly and a time period of 52 weeks is equivalent to a year and 4 weeks is
equivalent to a month. 20

frafafea gl @, saa Gify @ swAe w9 g, @ oS gRaeE
forareremat & v WaTE W AReEeE HIfo -
(@ 31, 2019 a8 i TR )

NP HA R A -~ T 1,00,000
fafsmar ~ ¥ 1,50,000
Ja - % 12,000
st shfiey - ¥ 3,000
qagH - ¥ 10,000
sfiies gaTg

Tz 01.04.2018 01.04.2019
A Z 18,000 ¥ 25,000
g fae T 7,000 ¥ 4,000
FTER T 8,000 ¥ 6,000
wIH T 20,000 T 25,000
e dad T 2,000 T 3,000
wdea oA Wifem ¥ 1,000 T 1,000
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From the following information of a firm, calculate the cashflow from operating
activities by applying Direct Method :

(For the year ended March 31, 2019)

Cost of Goods sold —

Sales -

Salaries -

Insurance Premium  —

Depreciation —

Additional Information :
Particulars

Debtors

Bills Receivables

Creditors

Stock

Salaries Outstanding

Prepaid Insurance Premium

¥ 1,00,000

¥ 1,50,000

T 12,000

T 3,000

T 10,000
01.04.2018 01.04.2019
7 18,000 ¥ 25,000
T 7,000 3 4,000
T 8,000 T 6,000
3 20,000 3 25,000
T 2,000 T 3,000
7 1,000 T 1,000 15

6.(c)  Ioit T faviaw & weftm fraw sma savm @t @ il |

Illustrate the Net Income Approach relating to capital structure decision making.

15

7(a) ey fefiee st fay et @ @ @ & fog 10 s ® @ osfale faa
S[eT ATedt ® | FP & ure fraw % Sew vg whietRa sm & w9 # 2,10,000 ®
Iy € | srfafes =R fr=fofea 2.

(i) o1 — It o

(i) 0T H AR T 1,80,000 T

(iii) 0T H WRE T 1,80,000 &F =G

(iv) 3 wfa SR
(v) AT A

(vi). ST § InféE faem &)
(vii) aHE AR Hed 9fd PR

(viii) o 6t K
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- 30% — 70%

— 10% (I ¥ =)
— 16% (W & &)
- %4

—  50% (3" =)

- 10%

—~ T 44

—  50%



7.(b)

aet frfafaa @ €

(a)ﬂﬁiﬁ?ﬁﬁﬁﬂ?ﬁ%gﬁ%@qﬁﬂﬁml

(b) srfafes =it 6t sx-uvEE fiaa ara @ ek |

(c) wfenfa sma wg faadt ot 6t arm w1 ko |

(d) stffees fog fit w-uveq i wRifera sttea @m0 afiee |

Akash Limited wishes to raise additional finance of ¥ 10 lakh for meeting its

investment plans. It has ¥ 2,10,000 in the form of retglincd earnings available for
investment purposes. The following are the further details :

(1) Debt — Equity Mix - 30% - 70%
(1) Cost of Debt up to ¥ 1,80,000 —  10% (before tax)
(111) Cost of Debt beyond ¥ 1,80,000 — 16% (before tax)
(iv) Eamnings per share - T4
(v) Dividend pay out —  50% of earnings
(vi) Expected growth rate in dividend — 10%

(vii) Current market price per share — T 44

(viii) Tax Rate - 50%

You are required to :
(a) Determine the pattern for raising the additional finance.
(b) Determine the post-tax average cost of additional debts.
(c) Determine the cost of retained earnings and cost of equity.

(d) Compute the overall weighted average after tax cost of additional finance.

20
Frafafea st & st 31 9 2019 @1 ‘@ fefies 1 gomaA daR o ©
=, ST ~ 1601 |
WA IS - 1:0:1.
AT FArad - 67
Hd H AT - 20%
/T THE HAM ~ 192 HEM
fer afmefa smad - 1257
srfifar va snfie @ oot @ sgEE@ - 025:1
SR WO K g T ¥ FgE — 0501
for afEafe &1 4g 7= ¥ FuE = 180
T & qrm T ~  7,50,000 ¥
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7.(c)

8.(a)

8.(b)

8.(c)

From the following information, you are required to prepare the balance sheet of
A Ltd as on March 31, 2019:

Current Ratio - 1:60 : 1

Liquid Ratio - 1-10 : 1

Inventory Turnover — 6 times

Gross Profit Ratio - 20%

Debt Collection Period - 1:92 months

Fixed Assets Turnover — 125 times

Reserves and Surplus to Capital -  0-25:1

Long Term Loan to Net worth - 05:1

Fixed Assets to Net worth - 1-20 : 1

Sales for the year - ¥ 7,50,000 15

o, R 2 Ao, e F e F-w € 7 vE Tew oo
THATG | 98 B UF SeW W ay | awEs ufawd & 9R # o 9adr § ?

What is CAPM ? What are the components of CAPM equation ? Explain the
meaning of each component. What does it tell us about the required return on a risky
investment ? 15

SH9Re GRIST & IR 1 TAAT & ? Tk Il hl ERAT W HIAY | G
gifed & fore s it 9 arelt fafim qee @ e Hifg )

What do you mean by corporate restructuring ? Outiine its objectives. Explain the
various techniques used for corporate restructuring. 20

‘Ho1 AR’ W R 7 TS AfeE iR Wehrl W=l i |

What is ‘Money Market” ? Discuss its features and functions. 15

arfifsrs 9@ & faftrm yert w ==t $ifsa |

Discuss the various functions of a commercial bank. 15
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